
Activité	
  	
  	
  	
  B1-­‐1	
   L’origine	
  du	
  sexe	
  biologique	
  
Problématique	
  :	
  Comment	
  expliquer	
  la	
  mise	
  en	
  place	
  d’un	
  appareil	
  génital	
  de	
  genre	
  masculin	
  ou	
  

féminin	
  ?	
  
	
  
Le	
  sexe	
  chromosomique	
  d’une	
  personne	
  est	
  déterminé	
  au	
  moment	
  
de	
  la	
  fécondation	
  :	
  il	
  y	
  a	
  alors	
  formation	
  de	
  la	
  cellule-­‐œuf	
  
(chromosomes	
  sexuels	
  XX	
  pour	
  les	
  femmes	
  et	
  XY	
  pour	
  les	
  hommes).	
  
La	
  mise	
  en	
  place	
  de	
  l’appareil	
  génital	
  se	
  fait	
  ensuite	
  progressivement	
  
au	
  cours	
  du	
  développement	
  embryonnaire	
  :	
  l’appareil	
  génital	
  est	
  
d’abord	
  indifférencié	
  puis	
  les	
  gonades	
  se	
  différencient	
  soit	
  en	
  
testicules,	
  soit	
  en	
  ovaires	
  vers	
  la	
  12ème	
  semaine	
  de	
  grossesse.	
  
A	
  la	
  puberté,	
  ce	
  sont	
  les	
  gonades	
  qui	
  produiront	
  les	
  cellules	
  
sexuelles	
  («	
  les	
  gamètes	
  »)	
  :	
  les	
  spermatozoïdes	
  seront	
  produits	
  par	
  
les	
  testicules	
  ;	
  les	
  ovules	
  seront	
  produits	
  par	
  les	
  ovaires.	
  	
  
	
  

	
  
	
  

Problématique	
  générale	
  :	
  Comment	
  les	
  chromosomes	
  sexuels	
  déterminent-­‐ils	
  le	
  sexe	
  de	
  l’appareil	
  génital	
  ?	
  
	
  

	
  

Rappels	
  :	
  Anatomie	
  des	
  deux	
  types	
  d’appareils	
  génitaux	
  :	
  
	
  

	
  



	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Activité	
  :	
  A	
  partir	
  de	
  l’analyse	
  des	
  documents	
  suivants,	
  expliquez	
  comment	
  les	
  chromosomes	
  sexuels	
  déterminent	
  la	
  

différenciation	
  des	
  gonades	
  en	
  ovaires	
  ou	
  testicules.	
  
	
  

Doc.1	
  :	
  Du	
  sexe	
  génétique	
  au	
  sexe	
  gonadique	
  	
  
	
  

	
  
	
  

Doc.	
  2	
  :	
  Résultats	
  d’une	
  expérience	
  de	
  transgénèse	
  
	
  

	
  


